




New Pattern
(Question Practice)



7 9 @ Z K % L 4 B Q ! V 1 P D © # 5 N
Step I: The symbol which immediately preceded 
by a letter is interchange with the first number 
occurred before them in the series.
Step II: The letter which immediately followed by 
a number are to be arranged in the alphabetical 
order after the last element of the series.
Step III: The perfect square interchanged with 
immediately succeeding symbol.
Note: Step 2 is performed after the completion 
of step 1 and step 3 is performed after the 
completion of step 2.



7 9 @ Z K % L 4 B Q ! V 1 P D © # 5 N
चरण I: किसीअक्षर िे ठीिपहलेआने वाले प्रतीििो
श्रृंखला में उनिे पहलेआने वाली पहलीसृंख्या िेसाथ
बदल कदया जाता है।
चरण II: कजसअक्षर िेठीिबाद एिसृंख्याआती है उसे
श्रृंखला िेअृंकतम तत्व िे बाद वणणमालाक्रममें व्यवस्थथत
कियाजाना है।
चरण III: पूणण वर्ण िो तुरृंतअर्ले प्रतीि िेसाथ बदल कदया
जाता है।
नोट: चरण 2 चरण 1 िे पूरा होने िे बाद कियाजाता हैऔर
चरण 3 चरण 2 िे पूरा होने िे बाद कियाजाता है।



7 9 @ Z K % L 4 B Q ! V 1 P D © # 5 N
Step I: The symbol which immediately preceded by a 
letter is interchange with the first number occurred 
before them in the series.
Step II: The letter which immediately followed by a 
number are to be arranged in the alphabetical order 
after the last element of the series.
Step III: The perfect square interchanged with 
immediately succeeding symbol.
Note: Step 2 is performed after the completion of step 
1 and step 3 is performed after the completion of step 
2.
How many symbols are there which immediately 
proceeded by a letter after completion of all the steps?
सभी चरणो ृंिे पूरा होने िे बाद कितने ऐसे प्रतीि है कजनिे िे
ठीि पहले एिअक्षर हैं?

1) None / िोईभी नही ृं
2) One / एि
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Step I: The symbol which immediately preceded by a 
letter is interchange with the first number occurred 
before them in the series.
Step II: The letter which immediately followed by a 
number are to be arranged in the alphabetical order 
after the last element of the series.
Step III: The perfect square interchanged with 
immediately succeeding symbol.
Note: Step 2 is performed after the completion of step 
1 and step 3 is performed after the completion of step 
2.
How many symbols are there which immediately 
proceeded by a letter after completion of all the steps?
सभी चरणो ृंिे पूरा होने िे बाद कितने ऐसे प्रतीि है कजनिे िे
ठीि पहले एिअक्षर हैं?

1) None / िोईभी नही ृं
2) One / एि



7 9 @ Z K % L 4 B Q ! V 1 P D © # 5 N
Step I: The symbol which immediately preceded by a 
letter is interchange with the first number occurred 
before them in the series.
Step II: The letter which immediately followed by a 
number are to be arranged in the alphabetical order 
after the last element of the series.
Step III: The perfect square interchanged with 
immediately succeeding symbol.
Note: Step 2 is performed after the completion of step 
1 and step 3 is performed after the completion of step 
2.
Which among the following is twelfth from the right in 
step I?
चरण I में कनम्नकलस्खतमें से िौन-सा दाएँ से बारहवें थथान पर है?

1) !
2) 4
3) V



7 9 @ Z K % L 4 B Q ! V 1 P D © # 5 N
Step I: The symbol which immediately preceded by a 
letter is interchange with the first number occurred 
before them in the series.
Step II: The letter which immediately followed by a 
number are to be arranged in the alphabetical order 
after the last element of the series.
Step III: The perfect square interchanged with 
immediately succeeding symbol.
Note: Step 2 is performed after the completion of step 
1 and step 3 is performed after the completion of step 
2.
How many letters are there between the sixth element 
from the right and ninth element from the left after the 
completion of all the steps?
सभी चरणो ृंिे पूरा होने िे बाद दाएृं से छठें और बाएृं से नौवें तत्व िे
बीच कितनेअक्षर हैं?

1) None / िोईभी नही ृं



7 9 @ Z K % L 4 B Q ! V 1 P D © # 5 N
Step I: The symbol which immediately preceded by a 
letter is interchange with the first number occurred 
before them in the series.
Step II: The letter which immediately followed by a 
number are to be arranged in the alphabetical order 
after the last element of the series.
Step III: The perfect square interchanged with 
immediately succeeding symbol.
Note: Step 2 is performed after the completion of step 
1 and step 3 is performed after the completion of step 
2.
What is the sum of the element which is seventh from 
the left in step III and fifth from the right in step II?
चरण III में बाएृं से सातवें और चरण II में दाएृं से पाृंचवें तत्व िा
योर्क्या है?

1) 9
2) 17



Directions: In each of the following questions two rows 
of numbers are given. The resultant number in each 
row is to be worked out separately based on the 
following rules and the question below the rows of 
numbers are to be answered. The operations of 
numbers progress from left to right.
Rules:
i) If an odd number is followed by a two digit even 
number then they are to be added.
ii) If an odd number is followed by a two digit odd 
number then the second number is to be subtracted 
from the first number.
iii) If an even number is followed by a number which is 
a perfect square of a number then the second number 
is to be divided by the first number.
iv) If an even number is followed by a two digit even 
number then the first number is to be multiplied by the 
second number.



कनदेश: कनम्नकलस्खत प्रते्यिप्रश्नमें सृंख्याओृंिी दो पृंस्ियाँ दी र्ई
हैं। प्रते्यिपृंस्िमें पररणामी सृंख्यािो कनम्नकलस्खत कनयमो ृं िे
आधार परअलर् से कनिाला जाना हैऔरसृंख्याओृंिी पृंस्ियो ृं िे
नीचे कदए र्ए प्रश्निा उत्तर देना है। सृंख्याओृंिा सृंचालनबाएृं से
दाएृं िीओरबढ़ता है।
कनयम:
i) यकद एि कवषमसृंख्या िे बाद दोअृंिो ृंिी समसृंख्याआती है तो
उन्हें जोडा जाना चाकहए।
ii) यकद एि कवषमसृंख्या िे बाद दोअृंिो ृंिी कवषमसृंख्याआती है
तो दूसरी सृंख्यािो पहली सृंख्या से घटाया जाना चाकहए।
iii) यकद एिसमसृंख्या िे बाद एिऐसीसृंख्याआती है जो उस
सृंख्यािा पूणण वर्ण है तो दूसरी सृंख्यािो पहली सृंख्या से कवभाकजत
किया जाना है।
iv) यकद एिसमसृंख्या िे बाद दोअृंिो ृंिी समसृंख्याआती है तो
पहली सृंख्यािो दूसरी सृंख्या से रु्णािरना होर्ा।



55 45 12
25 10 33 16
If the resultant of the second set of 
numbers is subtracted from the resultant 
of the first set of numbers what will be the 
outcome?

1) 44
2) 92
3) 29
4) 112
5) None of these



Directions: In each of the following questions two rows 
of numbers are given. The resultant number in each 
row is to be worked out separately based on the 
following rules and the question below the rows of 
numbers are to be answered. The operations of 
numbers progress from left to right.
Rules:
i) If an odd number is followed by a two digit even 
number then they are to be added.
ii) If an odd number is followed by a two digit odd 
number then the second number is to be subtracted 
from the first number.
iii) If an even number is followed by a number which is 
a perfect square of a number then the second number 
is to be divided by the first number.
iv) If an even number is followed by a two digit even 
number then the first number is to be multiplied by the 
second number.



39 35 10 400
4 12 144

If the resultant of the first set of numbers 
is multiplied by the resultant of the second 
set of numbers what will be the outcome?

1) 19
2) 30
3) 16
4) 20
5) None of these



Directions: In each of the following questions two rows 
of numbers are given. The resultant number in each 
row is to be worked out separately based on the 
following rules and the question below the rows of 
numbers are to be answered. The operations of 
numbers progress from left to right.
Rules:
i) If an odd number is followed by a two digit even 
number then they are to be added.
ii) If an odd number is followed by a two digit odd 
number then the second number is to be subtracted 
from the first number.
iii) If an even number is followed by a number which is 
a perfect square of a number then the second number 
is to be divided by the first number.
iv) If an even number is followed by a two digit even 
number then the first number is to be multiplied by the 
second number.



30 60 3600
15 22 19

What is the sum of the two resultant 
numbers of the set of numbers given 
above?

1) 22
2) 20
3) 18
4) 42
5) None of these



Directions: In each of the following questions two rows 
of numbers are given. The resultant number in each 
row is to be worked out separately based on the 
following rules and the question below the rows of 
numbers are to be answered. The operations of 
numbers progress from left to right.
Rules:
i) If an odd number is followed by a two digit even 
number then they are to be added.
ii) If an odd number is followed by a two digit odd 
number then the second number is to be subtracted 
from the first number.
iii) If an even number is followed by a number which is 
a perfect square of a number then the second number 
is to be divided by the first number.
iv) If an even number is followed by a two digit even 
number then the first number is to be multiplied by the 
second number.



6 36 36 12
17 13 12 144

What is the difference between the 
resultant of the first set of numbers and 
the second set of numbers?

1) 20
2) 210
3) 69
4) 54
5) None of these



Directions: In each of the following questions two rows 
of numbers are given. The resultant number in each 
row is to be worked out separately based on the 
following rules and the question below the rows of 
numbers are to be answered. The operations of 
numbers progress from left to right.
Rules:
i) If an odd number is followed by a two digit even 
number then they are to be added.
ii) If an odd number is followed by a two digit odd 
number then the second number is to be subtracted 
from the first number.
iii) If an even number is followed by a number which is 
a perfect square of a number then the second number 
is to be divided by the first number.
iv) If an even number is followed by a two digit even 
number then the first number is to be multiplied by the 
second number.



21 19 16
25 23 12

If the resultant of the first sets of numbers 
is multiplied by the resultant of the second 
sets of numbers, what will be the 
outcome?

1) 248
2) 364
3) 192
4) 148
5) None of these



Study the given information 
carefully and the questions given below it: 
In a certain code language,
the symbol for 0 (zero) is % and that for 1 
is & There are no other symbols for 
numbers and all numbers greater than 1 
are written using these two symbols only, 
the value of the symbol for 1 doubling 
itself every time it shifts one place to the 
left. Thus:’
0 is written %
1 is written &
2 is written &%
3 is written &&
4 is written &%% and so on…



How will 31 be coded as in the same code 
language?

1. %&&&&
2. &%&%&
3. &%%%&
4. &&&&&
5. &&%&&



How will 42 be coded as in the same code 
language?

1. &%&&&&
2. &&%&%&
3. &%&%&%
4. &&&&&
5. &&%&&



How will 17 be coded as in the same code 
language?

1. &%%&
2. &&%&
3. &&&%
4. &&%&
5. &%&&



Which of the following will represent 
%&&&%% ?

1. 22
2. 14
3. 16
4. 24
5. 25






